j'JtE N — R j(ﬁj\i‘ﬁ ':F'ﬁj\iﬁ N 5 /\:k %f@%% *E*ﬁjlll)"ﬂﬁ | 7KLD II]E
i} 10-2
GA TELHER | A A B IR 5, 6 R~ R—ILE :| %75 13 ¥
; 70-1-1 H 71y O H| LA
MR R RE S=1:500 (ERFEENe1D | eI 7
Jiwﬂ‘ ?\ JLLTf’J L t }\ Vrm I [E] >( S:] 50 7.
3 ETHEEAE =T A - (=1 :
A A s 3
TKQ;Q :: \@
2 R&  MI0-2 11483-11 Wf
L-9 51 X=-75869.553 : o
o4 40 Y=-38138.341 3 M
c=11.04 (BRAMR) P - — = = = = = = q 1280 10
K20 LA o o = a=l<.
221.814m, 115 4 om - - - O- - ' L - - -5 - S b=20. 60 |
| 2 c=4. 00 2
AA[ AR | 1)
d)LOOO S / \'\ \ | 8| 2000 Ao o o
N = i | s - g 8F
T : 3
P B S S
ey - —
. a < S
C
450 | 1550  |450
2450
600 3350 600
B 4550 i
» . 1]/ *», . 1]/ » .
FEEE  s=1:50 A - A BFrEX $=1:50 B-B FmEEX S=1:50
(A-A)
) GL=6. 103 GL=6. 103
 E— S  — 7
S
= ¢ 600 ~ o o~
S & < &
© 6 N N
(5 P ) B _—::____gr___
| | _ {|¢900 || _ B _
| S | 2 - g
8| 200 & 1820003 s s — 9900, &
1Y | | N g s /(F | A _4Q)e
© © 450 1550 450 t L o
| | S 450 2000 450 =
| | S — ©
o B ) :::“‘ﬁL“ ] ~ ]
2 B o o ] ]
3 S ; - S 3 ] ||
S . - — 900 | 1100
B -3 — >
= 1 —
< I:IF - - 1713 S ] -
_ — ()
600 || 900 , 1550 900 | 600 ~ 600 | 1000 900 000 | 600 P
B — | e B
500 600 3350 600 | 500 — . S —— F 7
H & L0 RA A0
_ S | o 56
5550 = u E 4
| — I a ;
| - I
S | | S 450. ¢ 2000 450
g | S 500 500
© | © OB
| ' F A
-/ — Lo
- 113 4.084 o - 7
— - ™ _
S S ™
© %) &
3
A
R—




MERSTI—F| X 9 & th 4 4§ N E | BBEES *E*ﬁ“ll)ll.ijz | 7KLI:I[|]E
GA EELMER | A T | BEO4IX 3 BAT R —)LEE X XmES 14) .
=X LR an 7|\ A HIB 7 BIRE Ty IERE
- 7 & R Hx S=1:500 (ﬁ’ﬁ zIZWEINO 11) - 3 - 3 x
=t [ %) e [H] §=1:50 [H] 5=1:50 A
= M70] -1 S (€4-1) (A-[) &
Iii\;% M70_1 A ;:\{6/06§ xxxxxxxxxxx %
A Y=—37582. 120 o=18. 89 5800
(BAMBR) a=3. 50 o
=% M/0-1B e=12 68 : 3
rssgs. ol o o8 500 2900 400, 1500 500 b=3. 40
‘-@ pag s Y=-37982. 334 g;hj A5 c=5 50 M
Lo s 00 L 651 S R e e e 7
b MI0-TA) / lf;ggz - 01_650 0. 7% 1@"‘ |
: | S| 2000 S| 1650 o !
S 2 2
sy o 1N
‘ [ e R TS o
S T [P —\- - - S
b \ B
— — — — — — — — T I o X \ S
——— e a— - —————  —————— a S ———e i S ———— D S S ——— . S——— p PR ) S —— 8 d/ \ \ 8
— . @723 QoW 10 LO_ — — .
‘ v i [ — ~ Al [ I I k" I 800 S
| I 9° | - E ©
N B A 1050 \, 800 |, 1050
| I p=== o J Xy X(
= S | I | 2 . .
S g Dk 2320 T | e .- S
| | L =TT \ .
| | | | \
| o | <
()]
o
o e Bt M-
3 | |
| §J | 500 1600 | 1100 200500
| T |l
| % |
| |
o200 3900
| J !
L By
I XY . / +» .
A-A BEX S=1:50 B - B BrmEX S=1:50
2 4. 026 54026
o
_ 'fF _ 8 ¢ 600
2 - o[ 890 |
o o
)| -8 |
o -
S - :L .
— o L\
— 200
- - | 500 2900 500
S n ] B | ¢800 0 < S .
Q F — g — — —-| = = = TZ 5 & SE4M
o = e AL
-]
B B i | £ A
] ] = 900 -
(=} 1 VA]
> T900 | I O A e RA A0
s a \ IBm B 1100 900 56
o (9] — }(—,I(—)
S || — =
- / . 3
' - | H
- | |
o - | | | o
(=) o | I Lo
3 ~2. 952 s e '
s 1\ | $ 1650 £ A
| 3,586
b 2000 - S
| — | -3.928 / ¥
JC
&
[«)
@ 3
A
500 ‘ 500 ‘ 2900 !400! 1500 | 500
6300 R—




BER7?O3—F KXo #H b 5 5B N 5 5 2 HE &
GA BT &EER A A F69-4TX 8

AR I /JlLi:ETﬂ(Lﬁ‘mLEY

FfE~ 2

#\_)Lni%ﬂ]

(R

m&Es 15)

ff 3 R B E S=1:500 (E&FEENo.12)

A
[69]  O1650-.0.7% 149 318m L/ 3 deTS
e

o NO. 64

QTF%

A

A =T =% WMe9-7
\a 705 X=-75903. 203

h=0 33 Y=-37834 262
Ll 0 (B

> 7 1B TH 3R E 5

8956-6 A

A

O1650 0.8% 127. 485m

) @W#

- B
. [E] X S=1:40
(€4-1)
4000
500 3000 _ 500
()
3
8 /S _ _ _ __ T
2 ® 1650 s s
S o QS
N
VA — ]
()
3
1009///15L
b
WU *», .
A - A BFrmE[X S=1:40
()
GL=4. 289 SE
(Y
()
S
N
o D
] 8 )
()
I | S
(=) : |
S |
1200 [
300 ¢ —
o 4 iﬁ 3 1b 4 )
~ 1000 | 2000 3
Bk 150 |
b
_ 1020 |
8 I| : 8 ()
™ (ap) ()
S
900
- 300 g
B/ | T
|
| | S
| | 3 ~
Uo) | O
o I =
S | l ©
|
1650 | B @ 1650
s | -3. 481 3.373 | o
S s
()
3
500 | 3000 500
4000

a=11. 80
b=11.10
c=6. 90
]/ » .
B - B FrmEX S=1:40
()
N GL=5. 835
(]
S
o
S o
()
| | L‘C%
' =)
S
300
S
<
1
-f 956
_J 7 S o
| | ™ o
Y S
: 900
! o
| S
Lo
()
3

500

2300 500

3300

D EH N >

(@3]
~N — | o=

S
B
% A

FRFN
56

-3
3
A

1]
T H|

H|#
2 |wh

o« 4 dl




MERSTI—F| X 9 & th 4 4F N E | BBEES *E*ﬁ“ll)ll.ijz | 7KLI:I[|]E
GA EELMER | A A | H69-3IK 9 R~ hR— LT (HEES 16) "
BT &Ik * H 71— )3 Hl 375 BIGE FoIENE
M35 R BB S=1:500 (EF@EENo. 12)
- v\ 5‘( 4 . B A
| ) O [E] S=1:40 A
| || (£-4) 4000 s
\, : * r TR EE AT B 500 3000 _ 500 .
\
[M69] -6 =4 Me9-6 8955-1
st | S=Z 46 X=-75917.096 a=8. 60
=i be4 14 Y="3T707.160 b=15. 60 M
=) \m\c:18 50 (BAEHZ) A S 10, 00 69
LA O P NP — — ) — |
T “\m“ 2 24 T Q ® © ] - 4 ] o
w—\L*g% BEDH BT | I - 6
\\ e ’ /. . \l
7 \’\ pE—— : !/ }ll 8 8 A
| — ) S J
/ . —— ll
, - -~
n I J\/‘-;ﬁ——l;;
] J T < S | : / / 8
/
C
A - A BFrmEX S=1:40 . B - B ErEKX $=1:40
GL=6. 188 GL=6. 188
K (S
B
% =
RN =N
B o ()
| — S | | S
S ' — | S
S S
— 300
300 1200 || |
_ | - 4 V[ ]V4
12 1000 2000 <[]
o NN S S
s |
.< ||
S 1020 |1
N | |
=) ' i =) =)
S | S S
(ap] (ap] ™
S S
S S
900 300 S 4mi
480 £ B
3 £ B
N b
| (9p] (qp]
l | | ™ ™ 56
2 | - g :
% | | ! ° A
® 1650 | ! | ® 1650
- -3. 269 -3. 220 | o 5 %
ﬁ : | i § § ﬂz H
T
7T
500 | 2300 | 500 ?
60 60 3300 e
500 3000 500
4000 R

32




AR I /JlLi:ETﬂ(Lﬁ‘mLEY

HERXRS,O—F| K &9 % th 7 %8 IN 5 3E B HEES
hfEl~v oR—ILEEMR (HEES 1) -
H 71> = HI BB FoIENE
FER  s=1:40 B A
(€4-1) &
4000 =]
a=21.80
500 , 3000 . 500 b=17. 80
‘ c=6. 20
X=-75920. 094
Y=-37570. 076 M
(BABIHF) S 69
2 |
I I — | ;
S S R
A l -~ |
L [ : \ A
T hH f T SRS
,\ — A== 1 Q&
I — f'/’ |
_ | / N
g‘\/ e
o
3
h]/ XY . Uy Y .
A - A BRER  s=1:40 C \ B-B BREIR  s=1:40
B
GL=6. 002 GL=6. 002
37 K
(e o] (o)
[ _I 8 | T | 8
Lo Lo
o | B | g
S 1 d 1200 D S
300 - 300
x ] N
= 'fK][ 1000 2000 o 174 - < o
o o
Bk | Q Q
= T
< N ¥ I
‘ 1020 s | ‘ 956 ‘
a i of
[ I ——I [ 9 I
S | S | | | S s
™ ™ _/_"/ (9P) né‘é%m
S | S fF R
900 1300 ~ = 0 X % A
\ __'g 7]*
: f
480 1 o ¥ A
g no— — O __: 56
S - ~N i —= ! 3
)4 R e — o L o
| | 3 : =] 3
(9p] - (ap]
| | o | A
3 | | S -
ITe) | T
— | S
sy 00 HERE=
b 1650 : | ¢ 1650 3 E
- . -3.049¢ | -
Y oy —8 S
g S %
&
3
) QL 500 | 2300 500 &
500 3000 500
3300 —
i 4000 ] S

33




AR I /JlLi:ETﬂ(Lﬁ‘mLEY

ERXRSO—F| X 5o % b 4 48 IN 3 $B BXHEES
10 b~ oR— LI (RmEES 18) ¥
H i o H| BIGE T IBRE
HEHE] X S=1:40 B -
(€4-1) 4000 &
L A )i i =5
- - [M69] -4 =4 weo-4 500 3000 _ 500
\ - 673 X=-75904. 429
' ‘ 9) G b=0 05 Y=—37413.970 ‘ ‘
— o 518 (BAHMER)
7\ ‘ i \\\\\ -. 8 6M9
T 4 — ‘ B = o
| ) — | |
‘ \ N e i S R ,  a=10.30 4
. ‘ { A[ | /' — \1 }B b=10. 00
) _ E% I i ,/ \ o o
- — —— —, =E B I s m—— S B
S [ i— N (ap)
—_— 35 | |
T == ] \ o
- . - o == S _ - - - - [
- — - ’,’ = [B]T~J 6991-1 -
® ;ﬁm&fm UOD
b
a
v/ ) . v/ Y .
A - A FrEX S=1:40 =B B-B BrEmKX S=1:40
GL=5. 471 GL=5. 471
57
() (e}
] § é ] [
— = o
| | S | | S
= | _l | oI
3 N R
300 L ®1200 300
1 V[ 1800 1200 || ]V’f S S
3 =) N <
) A
o0 (e 0]
- :
L'i-lvg | 1020 | & ‘ 956 ‘
= — .
b I |
() L 1 o ': — T 1 [=)
o | o | I ) I o
Dy (ap) | X (9p]
: : Tl :
3 900 300 = . 700 900 700 ™=
™ ! 3
B SR
: £ R
S / T T 4%: 1: F A
'_ | ' o S & =
| ' o !
g | | S ' =3
asy | | © 3
@ 1650 | | w :
-2. 889 -2. 850 _ o
S | ! / Lo —/8
o = EE ?Eﬁz
2 3 £ A
E Rk
500 | 3000 | 500 500 | 2300 | 500 IT
4000 3300 ?
A
R—

34




HERXR?O—F| X & #E h 9 %5 IN 5 3E i & *E*ﬁ}ll )ILW | 7KLE II]E
ﬁ é faray —_ —
GA EELMEH | A A | $692IR 10 NfE~ > ih— JLEESHX XmE=S 19) wes %, e
F & B BR ¥ S=1:500 (hEz%3FmXNo. 13) - ~ x
% TR EIX  s=1:40 x
> 7 e o 1)+ ©
AYFs T g / \ (€4-1) &
=
e ) m@] —3 A& M69-3 | B
5 )l a=7 30 X=-75885. 560 \ 4000
/ " b=2. 92 Y:—3?337. 755 A
. TR e 45T 500 _ 3000 500 v
/ s o o= e 69
z 745 ‘n«.«' o R |
-;, BMGH ) o
—7 S a=8. 20 3
B _8° — ) b=7. 50
] N ¢=9. 50
/! T —1 - - - -
| = — \ A
A A[— | — \ 1 o o J
| 1 /\. | N ™™
b | — —== ||
— 1] L
- — - =~ I
/ o
~ 2
/
da
C .
WU *» . WU IXY .
A - A BrmEX S=1:40 B - B ErEX S=1:40
GL=5. 256 - GL=5. 256
7S & I 7S
= o o
| 2 i 2
= _l | oI
3 - S
$1200 ||
P F 300 —JV P 300
1000 2000 | 3 S
_ ol | 2 3
§ L K | -
B . 1020 ||| 1956
b I :
S T T o “: L — o = _
= S B | | S e+
< 7 < g
D ~ ) 900 ~
& 900 N
300 | ' BB
‘*. 56
2 ' | — o - e
B/ | ~ o » S 3
| | =] | 3
| ™ __: ™ =
| o
o | o :
2 I | < =
s | : © 00 o
1650 | $1650 * A
_ — ~2.745 ~2. 644 1 —8 3 ;
= . | = F AL
- o 5T
(] (=)
o © &
3
A
) i
500 3000 500 500 | 2300 | 500 e
4000 2300




AR I /JlLi:ETﬂ(Lﬁ‘mLEY

BEXS,O—F| K 9 58 b 4 48 N 9 fH H &
GA HELER | A A 69-2 T X 10 R~ hh— LT (HEE S 20) BB 2B
f+ 18 R E S=1:500 (fEz%FmEXNo.14) T E X S=1:40 X
7,
B2 N69-2 6815-2 (’f 'f ) =
X=-75853. 079 =
Y=-37206. 712 5
Ao IME9| -2 (BXAIMZR) —
4000
500 3000 500 y
69
= |
3 9
] - a=9. 80
. I b=9. 60
S B c=4. 80
A A[ ,' — ]“ A
| / | () ()
— “I-— _ | : I J'_ L — 8 8
| _ T —n T | o~ ™
| e —
l = _JT/
_L\_/_é _____ Y
. a S
b
C
=
B
A - A FrEX  s=1:40 B-B AKX S=1:40
GL=4. 704 GL=4. 704
K 7
e e
i 3 l 3
S \ =
300 $1200 || 300
| () ()
1800 1200 |H S S
q q & &
V[ - ]V
S & H o
~ 1020 || 5 956
% s :
b S ] [ 3 § . 3
3 y 3
800 | 900 ~ 300 ~
300 K
— —sgf B4
2 o ~ = = S & L
- B ; : : :
§ | | — @ - RE#0
5 I : : © 00 56
L
I 1650 : F
_ 6165 |5 556 ~2. 908, ?1 o 8 3
5 I Lo =
= = B
S S
AR B
£ A
500 3000 500 500 | 2300 500 T 5
4000 3300 7T
v3
3
A
R—

36




MERAI—F| AHE | oo @E | AHE BEE 1‘E$§Jllmdﬁ | 7K1 mrl]E
o | mems oizm | AR UR— LR (REEES 21) ,
=] dCe J:jﬁf,nx A ?L I: l)“.r , \ H I ? E{TE%J?% %’Tm%:]'g#ﬁ?)?
f & R H S=1:500 ($EEZFmEXNo. 14)
/ A
D fl,
® @ %
I — =
A% N69-1A 7 \ ) N
N X=-75822. 230 || FrmInzs R
Y=-37124. 160 \ .
(ESTEUES) 2385 | 5 o IR B HT
%% W69-1B o=t 15 ( \ W ) A :
V= 33128. 323 , MR .
N (BAREF) M69] -1 {—v‘ E |
o [ 01650, 1 2% 05 931m7 o 2/ g5 ° . ©
e ’ P T 6 e, o I 1
N <
)
1
[X) . ]/ W .
NmEBX s=1:60 A - A FEX S$=1:50
¢ 600
v 4. 243 o 4.212
VER]Y B M ’
o
3500 S i S
2=3. 00 = . 2 3600 % =
b=4. 30 500 2500 500 /rF ) L }74
C=0. ]
d=7. 40 N\ | | 6900 ¢ 1500
i 304 K ) |
i S
© — N
§ E | B 500 = %
< @ 500800 900 | 650 150600 | 500 «©
[._: T~ T _7
5 : - :
.< — ] |
| | ) L 8
) R L — LOO
I (—)g
) = 2
Lo | HiE — |
I — | N (= ] ! 2 o
2 B S o | S 3
- ' — - - ™
':'F ° | B © | ¢ 1650 S ]y':'
— lane
=S 71 -
sl - o =2 0B
= S £ AR
F A
RAF0
56
()
= F
o 500 13163 500 3
LO|
A — A
ALO 2 14163
3 £ -
RE Y HERE
F H
(@)
11.(_3_
2 T A
LO JT
3
' 3
A
dl
/ S




AR I /JlLi:ET7KLﬁ‘mLEY

BERXRsO—F| XK & %8 b 4 #5 N 9 fH = &K
0w | mesms ——— AT UR— LN (NEES 22) .
B = & EX A fl. = X l)lL // N\ )I/n 7? 22 BMEL S
A
)
=
2
M
69
|
1
MM s=1:60 B-B AKX S=1:50 C - C FhmEKX S=1:50 .
(I:I_I:I) 02)
3500
500 2500 500
S o cﬂ 3|
s 4
N _ b0 3 S
H T &
ar c
ol 300 A2
2 o ) 500 600 | 1300 | 600 | 500
- 2 - 3500
S S 600
< 500| 600 1300 | 600 | 500
gj 3500
BB
£ R
£ B
Ba%0
56
e
3
J=
ol
£ A
T
5T
e
3
J=
R—

38






